January 25, 2021

Math 110
Winter 2021

Lecture 11
Coss QT 6
Citvent  P(A):0 b5 P(®)-. 45 P(AandB)-. 25
1) Venn Diagam 2) 9(@)
‘ ?cne’ =\-\45 :@

i 2) Pk ov B)
4L 25 N2

Aas]




January 25, 2021

Consides the So\\om‘ma Chord
\) Str\* P(x= 2)
SRRELIEATL 05):1- g2}

o) Daw  Prob. disk. Wiskpam

)

a5
20 .
.05

2 1 6 € 10

3) Sh\A M i, \§
EhY STAT CARLWC A -Now s LLELZ
PX)pL2 M5 §-2.236

ra
1) Sind exach valve 05 §
Wam) 5 16 ) @lmx%
M50 g2 25 Enle
5) K‘N“A‘ M A\ "2 1«Aedm\, hen S:’\J

2(2.9)

Ao Vsl Range M y 20 -5.0%
o), Raveg" 5034 b b 34)

1 Sdd 50 Hdaks , $20 each,
one Rk (5 deaum The Winnev ¢t &

worth §250.  Hind
gad | PENE) gy UL

-0

\
W —250| B3 P(aNG) v
i;a. Ex?g{\"eA Nolve :).l:_?(_ = 3‘3\5

I / Tockel

ex?o.deA Volve P fidet

Yoltet




January 25, 2021

Nov ove \’\own!\a Q S\Jfﬁe_r‘f
XOU \.)0“ wn SUvan (€ Sd,/ 500 XS' \(ou AOV\L} m“kt l.l,

Pays  $00,000 © Yoor Jamily

»S The Suvgery
olicy Sold.

Tasuvane  @wpony

Prob. et Nov Aon't vake ok oot
.57 Fnd expecied Nolve Pev P
AW | P(ENG) and -l
500-100M0 9/, = .005 \)@“d) p\L 2

<00 -0 W)= 45 EN.= M= X=
No Prodtt ,No Loss

ft box has 2 Dimes = (2 Nidkels,
Shole i T oet 2 M.

6
DD —» 204 P(20 &): |5‘ m —\ 2‘0!

[ \132°
DN — /\> 5§ POod)-1- erw 210 ‘\;\%Ea
ND 32
2 N\
NN e 104 PI0¢) - 75 a2

Ned & | RGN ¢) Drow Prob. Dk “\\s\vjl w
[EYH 2fap
-qu 210 /210
‘ﬁ \ g ! 6/210
204 | Zo

Wwe 58 208

Coedy & ¥\ Sind

Pcoledq) P2 M=l v
Romd ME T & o whied Sind &/ Ronge

goe T 5_%

M= S" (W) }*—iﬂu

Exom W - \2y>
Nact Mondoy ﬂ(:j::}




January 25, 2021

Binomeal Prob. Dish.
) M tndependedl events

cvent has oniy fwo adlomes,

2) Each |
Success Sadlove
3) P(Suecess) =F Sl e) =%
?-\(‘:1 0( ;1 —’P

Psor Vewaln onchonged Sor ol M evenily

W) X is A 0§ SucesseS

Py T

C;v-wu\ o binomia  Trob. At with 1=25 and

Y-.b

10 |5
fo) P(x=10) zonip” (+b) (){)Z _

=X
P(xX)- fY\Q‘)(, ' \9( X
25 Modh  Prb 2K 10 % FANEIVERC I

Enfer]




January 25, 2021

\(o\) oave ma\’\\ncs voméom %uesses on & Tmc[ Salse

exom Witk 1O Suestions,
:'/L\O ) ?:'5 ) %:"6

P( 25 Covrect ans) =

P(X=25) = o2s (5) (5) .0 1|
(2nd ) [NAES) - | binom 25 |

Menw No Men\)

i‘\j o\o+ 10 \DMON\FAS( 1D, .b, 2%
“.b
X-NolWet 25 ") j/‘/J B
( Paste HEE“ i Poox
= 1.031\

A \oaded Coin S tossed O times .
Pvde. 05 \o«\c\tns ‘ols 1S -6

Plexacky 90 kaik) U550
M«\\TA&(‘SO bso)
-

PLak most 55 Yols) -

\_,_/—V\-/

Pk £59) “binomcdS (€0, .6,‘56> :
N |




January 25, 2021

Xov Owve \‘a\ﬁr\s on exowm With 50 my \'H\)\C~d\o\'(e

C(\les\hna
Each (‘»ue_g\]‘o“ has Y d\of(es, Only one Covved choice.

Yov ove mqktns Yandom Quesses.

3
. _A -2,
M= 50 N e

P exacly 19 Covrect QV\‘:): Pix ;\5)
~—~———
- \)inomrc\S(SO ,425,15)

—\.08%
\)(w Covrect Ons).

PC % Lao) P(x 4 ﬁ) _biaomc3$( 90, 25, 19)

"

UpS SeMs prod. that oy Packase (s owkime

s A
C0 packases were vandomly Selected.

D P( m‘\/wO/ oe ov\Jﬂme):

X ;70) = binom\):\g(qo; -q)_(0>: @

2) ?(W ave cmhme):

P( %éwd&(%o, a,7)-[e ]

3y P8 ek 65 on e -
P x> 69)=1 P(X L) 21 - Binom (R0, 64)
()102.0 p’nV‘ , f"":';';'.‘:— -




January 25, 2021

00 Newborn bobies Wwve vandomly Seleched.
=100 -5 Of;.B
Pexactiy 4O bot)= P(1-0)
- Sinom ?ASQOO )9 ) ‘to}

| .0olL

=

P(Seuer han 60 Q7B - P L 60)

P(x £59)
?('m &w bo%): = binWCAZ((OO/'B/ 5\)
A

P(X D 45) =P(x 4b)
( %) v -,1,?(%9\5):143«0-.44)5(‘00;'5')“*‘5)

yy 10 - ‘ .‘Klbk

Px= 0\) = binom P’AS (n, % o)
P €O = binowcd$s (n, ®, 0)

?(’X)&) -1 - otnomdS (M P, Q-l)

P gk eg) Nnem3S (y 28) =

Redue by L Sinom CAS( ) )3;1)
edue by

Constder o binomiad VY. Ay with m=120 ,cué?:.‘&

Sad P(os L%& \m

- bi'\{\ovﬂ(c\g on) D ) “0) - ‘
Oinowmcd @0, % )QH) =\« 61




January 25, 2021

Podb. 05 Sull vewvery{ Srom Cerfain Sursery (S
. \\D o) Nege Surgeries owe vandow!Y Stleded.

Sit\}\ The ?Vd\). that Srawn W0 T 30 05 them
r Redue Wy 1
P 1o £ X4 13D)

Nowe DUl YewverY.
N=19 ) f\):fé‘a

- tman A5 (19, 159, 130) — binowd§ () ) \0%)

;&."\6‘&&

Dinomel Prob. Dost:

Meon, M S M=Mp !

i L i

\orsawnce

Stondod Devickiw T ¢ Jo°




January 25, 2021

TS o Jaur Coin K00 Times
MN=100 ?:.5 %:'5

MP  Pst00(5) | M=200}

\g g U “ 400 (5)(5) \ g% 100

W:JF: \,TOB 0] usual Range

JrET\y
g0 £2(10)
_ 200 ¥20

%o © 220 |

Nov ove M\G'\B vandom Guesses on & ted with

200 C(\RS*\‘MS, Each 1\:95’“‘:’“ ha\c_, 5 choies with
Quess vo & of o

oW owe coved chore. h o
DML =200 2%- lg_ S 3)0(: .% .9 ONSWRY.
Smp  stmg o ORT

-200(+2) 202X 9) RES
i -32] 15.651)

Rownd M 2T € o wle %, Sind w0, v2b

D VAR CAGE
95/ Rorer M 32T= 40 32(6)=401R
»\ 23 1 5zl

&) P bdhween 2Fond %2 Covred) ans, tndysive)

R 25 4X452) - bl 09, 2,2 ) —




